goooobogogd goad

e JOUUOOOODLDDLDOOODLDODOOO
e OO OOOODO

goon

o oooboobobuooooboboobobuooboboo

N2
000000000000 0000000 ult,z) = (z—¢)

xp(— 4a?t

l\.’)l»—‘

)

0
DD[DDDDDDDDDD?%U@—a——tm O000<t, —oco<z<
co0000000¢t=00000000000000

dg

(r—c)* dg _r—c

def (1' )2
godg(t = goood—(t,z) =— — = goo
9(t:z) 4a’t 8t( z) 4a?t? 7 ax( ) 2a%t
0 1 0 1 _ )2
8_7;5L(t’ r) = <—§t3/2 412 <_8_5Z>> e—9(tz) <—§t3/2 4 (374a20) t5/2> o~ 9(t.)
%@w): tm<_?>ewm:_%%ga%gw>
x x a
0u 3 r—c\, 4 1 1 s (v—0)? s
- _ _ - —9(tz) — = [ _ 4% -5 | p—9(t:2)
8x2(t’x) - 2a? (1—|—(a: C)(2a2)t )69 a2 2t o 4a? te)e”

gbbuodbboodbt=0000000z=cO0000000000O0O0O
goddddodooooobbbbbdodgoouoodduououuooooon
b t=0000x=cO000000O0DOODDOODDODOOODDOOO
gogbbbooooobobooooobobobooobbbboooonbo

000 D000000000000000000
«0000000000000000000000000000¢00000
Dy0000000000(00 u(tz)=¢é(z+at)+y(z—at) |0000

ou? , 0%u
000000 Z5(ta) =a*55(t,e) D0—c0 <, <co000000D0
a / / a2u 2 /" "
DDDa (t,x) = a(¢'(x + at) — ' (x — at)), 5 —(t,z) = a*(¢"(x + at) + " (x — at)),
0?u

aﬁu@y:%ﬁﬂx+myuwx—m»:¢%x+m%HW@—m)DDDD
O000y(x)00000000000002:-0000000 «0000¢(x)00O
goobooooobibbood eebbbU000obbbo0oooboobDbboo
guboodduadb «.-gbbboggubobboobuoggobbogboo
Y(z) = ¢(x) =sinz 000 Ou(t,x) = sin(x + at) + sin(z — at) = 2sinx cosat O

1



0000000000000000 -o<trz<ooOd00000000000
Ou(t,z) 000000000000000000000000000 ¢,4000
0000000000 u(t,z)=¢(z+at)+¢(zr—at)0 000000000

15b. DO OOO0O00OO0OO0DOOO

(3 ooooooo)

subbuogobogobooobbooobuoobbuoobbuooobbuoon

ggbbboooobbboooooboboobbbbouoooobobobod

ou ou?
E(t,x,y,z):(), ﬁ(t,x,y,z)zo, 00000000 wu(z,y,2) 0000000

Au(z,y,2z) =0

0000 Au(xy,z9,...,2,) =0 O n-00000000000O0OOCOOOO
gogoobodgd

ggbbooooboboooobbuoooobbbbooobuoooobbogo
ggbobobbdodu -0obooooobd

e 1000D00ODO0O0O0ODOOOD
n0000000000 = (21,...,2,) 0000000 r(z)= /> 22 OO
00000000 wz)0000000-000000000

u(x) dof r(x)*™ (n=1,n>3), u(x) dof —logr(z) (n=2)

16. Fourier U O 0O O

[-7,7]000000000000000000000000 0000000
2700000 f(z) 0 f(z) = f(z+2n) for V200000 f(—m) # f(x) 00000
0000000000000000

[e o]

1
500 + Z(an cos nz + b, sin nx)

n=1

™

0o L / " Fo)dr, ay L / " f(x) cosnadz, b, < X / f (@) sin nwdx
m

™ J—7 mwJ—7 -
00 f(x) O Fourler 0000 O0O0O0O0OOO ag,aq,by,as,bs,... 00 Fourier 0 O
0000000000000 0000000N00NoNoonoon @), (i), (i)
1 oo

f(x) = 500 + > (a, cosnx + by, sinnz)

n=1

gogbbobbooogobobbooouoboboboooooboboooooobooo



e HUUODOOODLDDOUOODLDDOUOODLDDOODLDOODLDLOODLOOOOOn
gogbboboooobobooooobboooobobobboooon

gogbbboooobbbuoooobbbooooobbbooooboboon

gbobobouoooobobobbD rowrier 000000 o0oooboonDOO
U0 e, 0000000 bbbooooobobboooon

T T 1 s
f(z)cosnxdx = / <§a0 + Y (am cosmz + by, sin mx)) cosnxdx

m=1
ag ™
— / cosnxdxr +
2 Jox

o T T

Z (am / cos mx cos nxdx + by, / sin mx cos nxdx)
m=1 - -

™

= a, cos? nxdr = a,m

—T

1 ™
oo000o0 «,00 —/ f(z)cosnzde OODOOOOOODOO

m™J—m

N COS(X) ==
LN C0S(2KX) et
N COS(3*X) i

0.5

-0.5

-3 -2 -1 0 1 2 3

DDDDDDm,nDDDDDD/ cosmxcosnzdrc:{ﬂ m:n’

- 0 m#n
/‘mmmmex:{ﬁ e ppDODODODOO0O00000000
— 0 m#n

Fourier 00O OQOQOQOOOOO

(i) f(x)DODDOOD0OOO0OD0OO0OO0OFowier 000000000 O0OODOOOOO

lim._, 0 f(z +¢e) +lime, o f(x —g) ao
2 2

+ > (an cosnz + b, sinnz)(1)
n=1

000000 [,b|00000000000[e,b00000000 |a;, asl(a =

ap<---<a,=0)00000000000000000f(x)00000O0O



(ii)

(iii)

1

oo oboooboo
o010 ob,0b0 0bo boo™o Hmoobooboo

O00f(x) 002000000000 f(x))D0O0O0O0OOO0 00000000

f(z) = % + Y (an cosnz + by, sin nx)

n=1

DDDDf(x)DDDDDDxDDDDDDDDDDDDDDDDDDDDD
Oo00o0000000000000
Qo

flz) = 5+ i(an cos nx + by, sin nx) (2)

n=1
oddoooudodoooooooouoooouoooouoooon

gbbuogouooobgbooobboobbuoobbuoboooboooboo
gogbobboooobobbooooobboooobboooonboon

O0000f(-)0000000O0O0O00O000O0O0O0O0O0O0O0O0O0OO0OOO
ggoggobobboogobbobtboooobobobon

2
™ ao N

lim (f(x) — — — > (apcosnz + b, sin n:p)) dr = 0 (3)

N—oo J_7 2 el

0000 f(x)DODODODODODODO f(x)COOOODODOOOOOOOOOO

O0f(x) 000000000000 cosne00000000OOODOag,a,O
00000000000 f(x) 000000000000 sinnze0O0000OO
oooods, 00obooonong

000 f(x)0000g(z) ¥ f(z) + f(—2), h(z) ¥ f(z) - f(—2) OOOOO
gDDDDDhDDDDDDDDf@%zﬁﬁgﬁgzDDDDDDDDDD
ooooooo

g(x) =ap+2)_ apcosnz, h(z)=2) b,sinnz

n=1 n=1

15

0.5

e JUDUD2r LU

0 Fourier 0 000000 N
-0.5
1 0<x<nm
f(l'):{ 1 0 -1
-1 —7<r< s

-1.5



Fourier 0 OO0 OOD0OO0ODOOODOODO

Loy Loy
ag —/ f(x)dx =0, a, dof —/ f(z)cosnxdxr =0

™ J—m ™
p et 1 . L0 . T
n = — | f(x)sinnzdr = — (—sinnz)dr + [ sinnzdr
™ J—m ™ -7 0
2 ™ 2 i 2
= — </ sinnxdx) = — {_cosnx} = —(1 — cosnm)
m \Jo T n o le—o nm
1 goo 0 gdd
cosnm = " gobO 1—cosnm= "
-1 n0O00O0 2 ngg

00000000 0ag,a, 0000000000000, 00,r000000 00
0000On=2m—-1,m=1,2,...00000
4

b2m = 07 b2m71 = m

7 <2 <7000000000f(zx)00z # —7,0,x000000000
r#4 7000000000000

o 4 . 3 . 5 X 7
)= bop_1sin(2m — 1)z = — (Sin:c N sm3 L sm5 z sm7 x )
s

m=1

f(x)O x:gDDDDDDDDDDDDDDDDDDDDDDDDDarctanD
O0 Taylor DO OO O0OO0OO0O0ODOODODOOOOOOOOOOO

1 - (71') 4(,7T+1 37T+1,57T+1,77T )
= 5 7Ts1n2 3sm2 5sn2 7sm2 .

T _ 1+1 1+

4 3 5 7

Fourier OO0 OO0 QOQOQOOOQOQ

o . T
f(x)00002r00002r000000000g(2) ¥ f(Z2)00000¢(2)
T

gdd2-ggn FourierDDDDDDDDDDDDDDx:%yDDDDDf(y)
gboo2rodd Fourier U0 OO0 OOOOODOO

e 1000200000000 OODOOOOODOOODO f(x)

O000boodb Fowrier OO0 D0OOO0ODOOOOODOO0ODOOODOOODOO

nmx def 1

T
flx Z:: ancos —|—b sin —— T ), ag = T _Tf(x)d:p,

of 1 of 1 :
ndf / f(x cosdeb & / f(z sm@dx



e 00 f(z)=2*(—7n<2z<nm) 0 Fowier 00000 D0O

00000000000000000 f(x)=2*°000000000b, =00

1 g 1 [2317 272
ap = —/ xde:—[x—] =

mwJ—7 N 3 3
1/~ 1 o sinnz]”™ m sin nx
an, = —/ z“ cosnxdr = — {:c . } —/ 2x - dx
mTJon T n J_x — n
2 T . 2 ( cosnx]™ T COSNT
= —— rsinnxdr = —— [—:p- } —I—/ dx
nmJ—x nmw n J_x . n
2 T . 2 cosnx]™ T COSNIT
= —— rsinnxdr = —— [—:p- } —I—/ dx
nm J—x nmw n  J_x T n
2 sinnx]™
= ———|—mcosnm — mcos n(—m) + [ ]
n2mw n J_r
(2 +0) (1)
= ——(—2mcosnm = —cosnm = —(—
n?m n? n?

fle) =2 (—n<2<r)000000000000-7n<z<700

) ao o) 71_2 oo(_l)n
x) = 1° = — a, COSNT = — COS NT
f(@) + +4)
2 n=1 3 n=1 n
7r2+4< +c052:1: cos3x+cos4x >
= — —CcoST — — .
3 4 9 16
gdododoooonoooooooogoooooo
w2 & (—1) 111
0)=0000 — = .
* /(O 12 nz::l n? 179716
2 < 1 1 1 1
=000 =Y —=1+-+-+—
o f(m)=m ;::1”2 +4+9+16

r 0<z<m

DDf(x):{O bbb -~0000000 2200000000
rT=T

Fourier OO OO QOQOOO
000000 2r00Q0O00000o0oooobo00oooooooobo0ooooUO o
go0o0o0ooooo0ooooo0googoUoooooggUuooooo

gogoggbbobooooooouodabboooobooooouoooooon
gogoobodgd



goooood

A-1. 000000DODODO

2 2

) )

0oo0oooo a";;(tx) aQa“(m) O0-c0<tz<oco000000
33'

0000000 () 0000000000000 0000000000000

0dodoooooooooooooooooo o000 obobobooooooad
u(t, z) = oz + at) + ¥l — at)

O000000D0OoOOoOO0oOD00OO00wu(t,x)DOO¢t=000000000000
O00000000O0O0O0O0O0O0O0O00Ouw(t,z)ODOOOO ¢,wOD0ODODODOOOO
uw(t,z) DO00000¢, 000000000000 OODOOOOOOOO

Jo00ooobooobooobobboogddn=a+at,{ =x—at, 0000
on 85 an K Pw  Pw

w(n,§ =u(t,r) 00007 =a=—20z = = = 10555, = gype 00000
ou _ Ow on  Ow o0& ow Ow
o = Sotaeea) G+ Sotaeea) 5 —a( G- 52)
Pu PP [(ow Ow Pw Iy Pw 0  Pw O Pw K
?ﬁ"“@<577¥> <&7 ¢ 9oy ot onoe 5‘5?'§>
o (Pw P P
-\ Tanee T oe
00O
Pu  Pw 28210 0w
02 o Conoe T o@
o2 s 5>
DDDDa—;‘(t 1) - 0’3 Z(Z x) = —4a2877;2(77(t,x),§(t,x)) 0000000 (4 a)
0°w
DDDDD:ODDDDa%(ng)—OD
o (ow Ow
0000 — (= 0000 0,) DnpO00D0O0O0
Aa77((%(715)) 5(775) £( ,§) O
w(A)déf/O g§(0§)d£+CDDDDDDDDD »O0O0O00000Ccooooo
dw dip
000 5(n;) dg(S)DDDD
nooo a_g( w(n, &) —¥(§)) =0 00w, &) — () =w(n,0) —¢(0) OO

0000 ¢(n) ¥ wn ¢ —¢(¢ 000000000 ¢000000
0000 ut,z) =wn,§) =on) +1(E) = oz +at) +¢(z —at)



A-2. 000000DO0ODODOO

n000000000% = (21,...,2,)00000,0000 r=r(z) 000
0000000 r(z)= /> 2 0000000000 w(z)0000000000

DDDDD:E#(O,...,O)DDDDDDDDDDDDD
u(z) = 7“(:1:)2_” (n=1,n>3), u(x) déf—logr(:v) (n=2)

O000n=20000000u(z,y)DO0O0000O0O0O0000O0O00Or -
ggbobobbouooogoobooo

z = -log(sqrt(x"2+y"2)) ——

0
w(z,...,z,) Er? =322 000000000000 aw =22 (i=1,2,...n)
n=20000
1 ou 1 ow x;
u(zy,xe) = —log\Jw(zy,x) = —§logw(aﬁ1,x2), o, = _%(%i =
Pu_ omiow 127 1
ox?  w?dr;, w w? w
0*u  Pu 22 1 222 1 2w 2
u(w, ) oxr?  0x3 w2 w w? w w2 w
n>20000
ou n ow
= 1-n/2 = 1__) -n/2Z77 _ 9 _ /2
u(xla 7xn> w ) axl ( 9 w axl ( n)xlw )
o
nx
_ 9 _ n/2 | 7 1
(2 nu ( - )
det  Ou 9*u 2o n;



A-3.00000000000000000000

62 62 62 82

atQ(t:vy,) 82(lffvy,) 82(t:lfy,) 82(t:lfy,)

00 m<um%z<mDDDDDDDDDDDD(@mQDDDDDDDDD
000000 ¢,9000000¢00000,00000¢00000000000
00

1

g Oy ) ) @y 2) ~ ) (@9.2) # (60.0)

u(t,z,y, z) =

D00000000000000000rz,y,2) % \(x — &2+ (y—n)?+ (2 — ¢)?
0 n 000000

e 1J0D0D0DDODODODOODO (¢n¢) 000000 DODODOOOOOOOOO
Udygpboboboboogbobobooboboboboooooobon
dbdddegebUoobO0ObObObbObDbObDbObDbOObDbOODbDbDOn
gogbbooooobobooo1l1gbbo

gogbobobboooobobobooooobobooooobbbooooonoon
-ouggoboooog

ou 1 / /
= = W(gb (r(z,y,2) +t) = (r(z,y,2) — t)),
0*u 1

oz r(x,y,2) (¢"(r(z,y, 2) + 1) + " (r(2,y,2) — 1))

00020000 w(z,y,2) €r?=2?+¢>+22 0000

o 1 0
w w-122%

- — g 1/2 Y 1/2 -

goboodgd

w o= w2 (g 1/2+t>+w<w1/2—t>>,
ou 1 73/2810

- = __ —-1/2

= —w g (¢+¢)+w Ye(¢) + )

2
O = B POt ) w2+ ) — w el )

O0x? 2
—ur a—ﬁW P+ G ) b (e ) S

— (3x2w_5/2 _ w—3/2)(¢+¢) + (_31,210—2 +w—1)(¢/ +¢/) +x2w_3/2(¢" +¢”)

1 71/2‘9_“)
ox

1 0w



y,2-0000000000w=22+9¢*+2200000
Au = (Buw™?=3w32) ¢+ ) + (3wt 4+ 3w ) (¢ + ) +w 2(¢" + ")
W (@ ) 4 g @ = 1)) = (@ + )+ 4 1)

gopo 2%-_ 1y £) + " t) =A
ot? o T(xayaz) ((b (T(x,y,z) + )—Hﬂ (r(:c,y,z) - )) = Au

A4. 0000DODOOOODOO

00000 z=(21,...,2,) 0000000 w(z)ODOO p=(p1,p2,---,pn) 0
2
0oooooooooooooooooonoooon (x) (i,7=1,2,...n)

&ci&cj
00o0ooooooo (g,j)booogoo
0%u 0*u 0%u 0?u
HEN U x=pU0000000 ———(p) =

gobbobbooogobbbuooodb 0000000000 0O00000
00000000000000000 a,bk,c (1<4,5,k<n)00000000O0
gooogo Lo

0? " 0

7, def P by
iélajaxﬁxj + Z,; k@xk te

goo00oo0oo0obooooboOobOobDOobOoUob00wbOOoUoD fObDOOO

Lu(xy,...,xn) = f(z1,..., %)
9%u 0%u
(z) =
8%3:17]' &cj&cz
1
000 000000000
DDDDDDDDDDDDDDDADAgQ%),l Op-00000000
INES n

=1,..

(z) 0000a; =a; 000000 0O0O0O00OOOOO

det(A — AE) =0

oooboooADOOOOO0ODOUODOnODOOOOOOODONODODOOOD
0000000000000 LO00000ooooooooooo@ oooo
000 ANJ0ODODOO0O0O0ODO0O0DO0O0O@G) Co0o00oDoo xoooooooo
O000Gi) 0000000 AOOO o0O00O0OO0OOUUOObOOoOoDODOO
ggbobobooooobboboogobobbodo

10



e JO0UIDODOUOO Au=0000000DOOO3-0DOODOCOOO

100
A=]0 10|, 0ODOOOOOO (1-X2)3*=0
00 1
0u
« 00000 =5 -Au=00000000000400000000
1 0 0 0
~1
A= 8 0 2 0 ., 0DDD0O00000  —(1=MN1+X2%2=0
0 0 0 -1
.DDDDDDf%—Au:oDDDDDDDDDD4DDDDDDDD
00 0 0
~1
i 00 ., 0oooDoogog —A14M02=0
0 0 -1
00 0 -1

godoooooobooodonooboooooonooooooooooooaa
ogooooog
C: ar*+2bry+cy> +pr4+qy+h =0

a b

DDDDDDDDDAz(b )DDDDDDDD

C
g(A) & det(A— AE) = (a— A)(c—\) = b* = A2 — (a+ )X + ac — V?
0000000000000000000¢(\) =000
O0000(a+c)? —4(ac—b*)=(a—ec)*+4* >0 00000000 (a=c,b=0
000)0000000o0
ea=c¢b=0000000CO0O
e 1000000000000O0DO M, A\ 0000000CO00000000
000000D0000000000000
C': M2+ oy +dr+ey+f =0
00000000000g¢(\)=000000000000

>0 000000000 < OO0
g(0) = ac—b> =X X { =0 000 & 000
<0 000000000 < 000

11



